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General Knowledge

Which cultural festival was organized in

Chhattisgarh on 30-31% March 2022?

A. Sirpur Mahotsav

B. Bhoramdev Mahotsav
C. Rajim Kumbh Mela
D. National Tribal Dance Festival

In the 94" Academy Awards (Oscars)
which movie got the “Best Picture”
Award?

A. CODA

B. West Side Story
C. Dune

D. King Richard

Who was the “Man of the Series” in the
“World Road Safety Cricket
Tournament” organized in Rai

A. Yusuf Pathan . O

B. Brian Lara
C. Tillakaratne
D

. Monty Pane&'

The two part biographical book
“Savarkar” published recently is
authored by famous writer-

A. Sanjeev Sanyal

B. Vikram Sampath
C. J Sai Deepak

D. Abhijeet lyer Mitra

L 4

AT AT

30-31 9= 2022 H SIS TSI H 9T
e cdd HET TRT?

A. forgr aeices
B. WRHIT HEIcHd
C. ufSH &v Heft
D. Tt sifeam sie meicea

94 o TeheHT 3ATE (JATEHRT) T “TIAT
forerere” =T farTer fordt SITe BT

O
%)

fo =g

o
0 . T AT Jo e US 4w

JEar ¥ “B 316 g €y &1 fadre forg
fohehe T fiet am?
A. Tg%9SH
B. ST
C. faaete fiaem
D. Tl wHE

&1 9T B YehTiTd ShiaT “aratee e
T oiaeh g forelt 7 27

A. Esid 9Tt

B. fosrg duy

C. S faus

D. s 3= i
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5. The new “App” named “Abhivyakti” 5. TEIG A g =l 7T AT “Ty”

introduced by Chhattisgarh government «Ifireaehy” fore O Teiferg &7
is related to- :

A. Women Safety A g

B. Freedom of Speech B. 9T &

C. Consumer Complaints C. I ¥R

D. Government Schemes D. IR ISHTE

6. “The Jungle Book” is a story collection 6. ! HUR < ST g6~ % AGF -

iJ th;)zmdk'b yéa d A e
. Ruskin Bon )
B. Rudyard Kipling B.
C. Mark Twain C.
D. Khushwant Singh D. §

7. What is the correct sequence of Grand 7. T T g Tt 2 T wiw
Slam Events in Tennis in a calendar ¢ T e Y § STHT?
year? \ -

1) US Open ) 7 T A
2) Wimbledon 0 2) feresrare
3) French Open 3) The 3
4) Australian Open Q 4) Sl A
A 1234 . O A 1.2.3.4
B. 2,1,4,3

B. 2,1,4,3
C. 4321

C. 43,21
D. 3,4,1,2 ®

D. 3,4,1,2

8. Who is the Founder of “North American 8. I H I & I Wi SAHe

Chhattisgarh Association” (NACHA)? TEIRRATE” (NACHA) it §eemaes 22
g. ;)eepla)lbl\SaraogI]l A Fareh gua
. Sonal Agrawa
C. Rajshree Mudaliar B.
D. Mamta Chandrakar C. TSt gaferm
D. HACT IS
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The name of operation given to
evacuation of Indian citizens from
Ukraine is-

A. Operation Devi Shakti
B. Operation Raahat
C. Operation Ganga
D. Operation Maitri

10. The “Best Actor” award at the 671

National Film Awards (2019) was
Shared by which two actors?

A. Ayushmann Khurrana & Dhanush
B. Manoj Bajpayee and Dhanush

C. Vijay Sethupathi & Manoj Bajpayee
D. Dhanush & Vijay Sethupathi

11.  Who is the present (April 2022)

“Deputy National Security Advisor” of
United States of America?

A. Jake Sullivan Q

B. Daleep Singh .
C. Rishi Sunak
D Q

. Lloyd Austin
Which country has announced shifting
of its capital to a new planned city
named “Nusantara”?

A

12.

Malaysia
B. Indonesia
C.

D. Phillipines

Singapore

10.

12.

5T © WA AR ohi GUET FHehrer
3 IR T T SRt SR A o
A. ITTEE ot Ik

B. TN T&d

C. SR T

D. ST Bt

67 3 it fohed TR (2019) | o T

FHOATHI hl TYh & H “HAHE FHATHR”
RCEACRIRIDIV
A T

AT T &g
B.

Rl
qufct T HAIST STSTUReT
9 T fosrr Squta

L 2

) A H (3T 2022) T TS AT
“TIEIT G o 3T FATEHIT” A 27

B ISR

. ol fiE

. et g

At ik

U 0O mw >

forer 231 I 319 IdA TS R TRt
T T FRITTSI STeT “TEarT” i TS
ST ST <Y ST 6y 22

BN

EEEINEI

e

[EIEIER)

O 0w >
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13.  Who is considered as the main creator 13, =1 1 8 % fofer ST foen o g

of Linux Operating System? fomtar 22
A. Linus Pauling A. ot difed
B. Linus Sebastian B. fora aafica
C. Linus Ukachukwu C. forma s
D. Linus Torvalds D. g ey
14. Where is the Head Quarter of 14, “3fqse TR MU T AT el T
“International Solar Alliance”? o 82

B. Cape Town ()
L 2

C. Colombo

D. Gurugram 0% D. TEm

15.  Who was awarded “Padma E 15. s UfMT hT Har 3] Ses i o fogfa

A. New Delhi A. q@
€. s

social work on Leprosy Pati FT -TEmefr & T e T

Chhattisgarh?

A. Damodar Ga A. THIGTORT AT
B. Madan Sing&a han B. #ed fig =ie

C. Arun Kumar Sharma C. 37001 FHR AT

D. Anup Ranjan Pandey D. WWW@
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Knowledge of Computer

16.  What is part of a database that holds
only one type of information?

A.
B. File
C.

D. Field

Record

Report

17. Which of the following is storage
element for a static RAM?

A

18.  What activity is done when you boot up
aPC?

A

C.

D.

Diode

B. Capacitor
C.
D. None of these

Flip-flop

Portions of operating sy@

compiled.
Portions of operating system are

copied from&to emory.
None of these

19. By default how many number of
worksheets are there in MS Excel?

A

B
C.
D

4

2
5
3

Portions of the operating syste
copied from memory to di

16.

17.

N\

19.

HII Haielt T

STETST T ShI9-9T f&EHT Shalel Teh TohI <hl
SIECAREC R

A. T

B. &

C. fur

D. ®ice
wimws i g R ar e
A.

B.
: AT

g)ﬁﬁ%aﬁé:réf

AT T Bt & Sfer 3719 o 6 92 d &2

A. Tt feeen = e 9ar @ fewn
o i} g 2

B. SAToufem forsen o fewan sweatge gar
2

C. iToufe foreen o fewe fewr @ vy
T st BT &

D. 378 ¥ &1 T

T U T | 1S fewhTee fohdHt aehatic
K

o0 w P
wmt\.)-b%
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20. India’s First Supercomputer is known 20. IR T ToH G FFRLL 6§ H ST ST

as- -
A. PARAM YUVA A. T
B. SAGA
B. @rm
C. PARAM 8000
C. 9= 8000
D. None of these ) ]
D. 319§ &his Tl
21.  Computer calculates numbers in what 21 epreget § AT Y TUMT I HIE T 82
mode?
A. ITTEd
A. Octal
B. Decimal
C. Binary
D. None of these

22. How many bits in Nibble? 0% frerer o foraa fore @a @2

A. 8 A. 8
B. 4 Q B. 4
C. 16 ¢ O C. 16
D. Noneofthesc@ D. T & HE T
23.  Which architectural standard is working 23. FATSE FHFT $SEL o W1 i

with cloud computing industry? TfeheTFaet Teres 1 hidT 82
A. Standardized web services A. Sreclse 9 afidy
B. Service oriented architecture

o B. @fdw Hifturds srfehdarat
C. Web application framework
D. None of these C. &

D. 39 4 IS T&l

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-YK-REC-CX-M 8 Set-A



24. A proxy server is used -------- 24, ot HAT ST SYFNT ThaT ST & -

A. to process client request for A, FARE I o Seey W, ieg
database access FE & fou

B. to process client requests for web B. ol feaee &1 99 ISt 199 0
pages fu

C. to provide security against
unauthorized users

D. None of these

C. IeiorTESe IoR F foea geam & fore
D. 78 ¥ s T8l

25. What is the function of an assembler? 25. UUECR T R T 27

A. To convert assembly language to
high level language

B. To convert high level language to
machine language

C. To convert assembly language to
machine language

D. None of these

26.  Which operating system is non- é 26. &\ g1 ST foren A-geifaea €2

interactive? A. TedierianT s e
A. Multitasking operating |

B B . B. &= e siqufen foeen
. Batch processing o system
C. Multiuser op C. Al Sirfe fereen
D. None ofthe& D. 34 ¥ IS A8l
27.  The communication mode that supports 27. e & e H ST ot § erer /g
data in both directions at the same time FRIHI HIE FEATAT & --nnnmmv
IS mmmmmmme-
A. Simplex A
B. Half Duplex B. BT gid
C. Duplex C. gwia™
D. None of these D. =0 4 IS Tt

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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28.  Which of the following technique is
used to send more than one call over a
single line?

A. Digital Transmission
B. Multiplexing

C. Infrared Transmission
D

. None of these

29.  Which hardware was used in the first
generation computers?

A. Integrated circuits
B. Vacuum tube

C. Transistors
D

. VLSI

30.  Which two kinds of sound eff
can be used in PowerPoint?é

e O

B
C. .wav & .gif
D

A. jpg & .gif

. None of these

\e: Ziforeet
OQ D. = e uw a7

2

28. e U SATET et TS AT & A o foTg
forer 2ferTeh =T SuRImT faRa STTaT 82

A. fesfieat st
B. oIt
C. RS ZafRe
D. & & Tl

29. YA SR HF H i | BTG SUANT
ERIRICIN

- o

O

NS

30. greRUTEe ¥ i Y g1 U1S-S HIsel UL
ST Hehll &2

A. jpg & .gif
B. .wav & .mid

C. .wav & .gif

D. W @i Tal
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Reasoning fafim
31. In the following series, in place of the 3. fAfafad sEer § yearae: g & T
question mark, select the appropriate q‘{ﬁ'&@ﬁaﬁﬁﬁ@aﬁﬁww
option from the given alternatives. SEICEEZY

K5M, 18P, G11S, E14V, ?
A.
B. C17Y
C.

D. C18Y

32. How many squares are there in the
following figure?

B17Y

B17X

K5M, 18P, G118, E14V, ?

A. B17Y

O 06 ®

L 4

C17Y
B17X
C18Y

32. ﬁnﬁ@ﬁﬁﬁmaﬁ%‘?

O

A. 14
A 14
B. 16 Q B. 16
C. 22 * O C. 22
D. 12 @ D. 12
33.  Look carefully for the pattern, and find 33. = fod T e R eI © o e e §
out the wrong number in the series. T E&AT okl T hil

1,3, 10, 21, 64, 129, 356, 777
A
B.
C.
D.

10
21
64
356

1, 3,10, 21, 64, 129, 356, 777

A. 10

© o w

21
64
356

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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34. If ‘we are reaching Bombay’ means ‘zik 34. 3Ifg ‘we are reaching Bombay’ T 374

pik lik hik’, ‘Bombay is really beautiful’ ‘zik pik lik hik’, ‘Bombay is really
means ‘hik dik mik nik’, ‘Is Mohan beautiful’ 3T 319 hik dik mik nik’, “Is
reaching there’ means ‘lik tik cik dik’ Mohan reaching there’ =T 379 “lik tik cik

and ‘we really need Mohan’ means

dik’ €, a7 ‘we really need Mohan’ shT
‘mik wik tik pik’. What is the code for

319 ‘mik wik tik pik® &1 & ‘Bombay’ T

‘B b ’? 9
ombay IS FATE?
A. tik
A. tik
B. pik
B. pik
C. hil
C. hil
D. lik
D. L
.

.
35. 20 people work in an office. The first %\ TS SRR | 20 Sk 1 Hd 8| 5 Tt
group of 5 serves from 8:00 AM to T TEAT T UT: § 11 § 3R 2 oA T

2:00 PM, second group of 10 serves F1 AT R, 10 SAThHAT hT SO THE TTd:
from 10:00 AM to 4:00 PM and 10 5% & ST 4 5 Ao e BT & e
group of 5 serves from 12 PM 5 iRt o7 9T GUE U 12 590 O I
6:00 PM. There are3comp the 6 31 % B T 31 A 3 e B
office which are freely all the T . - P
employees. In why owing ﬂ% ﬁm%éﬁﬂﬁﬁﬁgjmﬁﬁ?a
time periods co s dre most likely . |
5 FHER[T HT IUANT T 3711k forar ST Y

to be used? A

T 87
A. 10:00 AM to 12:00 PM

A. ITA: 10 S § U= 12 S T
B. 12:00 PM to 2:00 PM B. dI9et 1282 53 9%
C. 1:00 PM to 3:00 PM C. I | 3T TH
D. 2:00 PM to 4:00 PM D. S92 ¥ 4 99 dF

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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36. Three adjacent faces of a cube are

37.

coloured blue. The cube is then cut once
horizontally and once vertically to form
cuboids of equal size. Each of these
cuboids is coloured pink on all the
uncoloured faced and is then cut (as
before) into four cuboids of equal size.
Then how many cuboids have two faces
coloured pink?

Al

B. 3

If PxQ means P is the son of Q,

36.

. O

O

P-Q
means P is the mother of Q, P + Q
means P is the brother of Q ar%

given by

P:QxR+S:F§

then which of the following statement is
true?

means P is the sister of Q. If e
relationship among P, Q?? m. IS

A. Pisthesonof R
B. P is the daughter of S
C. S is the father’s sister of Q

D. S s the mother of P

Teh 1 o ofIF 3T~ HeTehl ol T et B
T = T Uk oI QST &7 & 3T T o
dAdad ¥ Y G TR o T T 6
o7 h1eT STt 21 39 oA H ¥ 9 foT
U R R R SICIRYRERISIGI
QAT I AT HTHR oh R AT H H1E

fem STt 21 e fohae ST 36 < etk

TSl 7 % &2

A 1

B. 3

N

C.
.

I PxQ F AP, QH AR, P~ QI
AP, QAT UTATE, P+ Q FHT 3 P, Q &
ISR, qT P+ Q 1 3 P, Q I &7 2
afE P, Q, R AT S & Haieqi shl T 2q |

fearsmar g —

P-QxR+S=+R

qa fferiad & & S 91 sheF T 82
A P,RFTAE
B. P,SHITAE
C. S, QI

D. S, P HM@rl

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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38. A watch which gains uniformly is 2 min 38.  us Ut S WU Y ¥ AW el 8, AR

slow at noon on Monday, and is 4 min ! Qe § 2 Toee ofieft 8, aer 7t aHar
48 second fast at 2 pm on the following I YL 2 9 4 T2 48 Tehe AT &1 SITdl
Monday. At what time it was correct? 2 g forg o g oo
A. 2 pm on Tuesday A. HIER 98T 2 9
B. 2 pm on Wednesday B. YIRS 2 Y
C. 3 Thursd °

pmon l;rs v C. e 3 o
D. 1 pmon Frida

P y D. YRR AT |

39. Rakesh is standing at a point. He walks 39.  Trehe1 Ueh feig W @I 21 78 Ydl shi AR

20 m towards east and further he walks 20 HieT IeTar & 3N gfeqor Y 3 10 HieX
10 m towards south, then he walks 35 m 3R I atye <ht 31T 35 Hiex
towards west and walks 5 m towards TeAdr AT HT 3T 5 Wi Tetar & o
north then he walks 15 m towards east. 15 et =orar 81 38
What is the straight distance between his T S S Ny S -

. : . v ' : '
::;Lt;]r;% T;)sltn': and the point where he \%G%Ta%?ﬂﬁﬁwqgmuw
A Om. 0% A. 0HiX

B. 5m. B. 5
C. 10m. é C. 10H&X
D. cannot be determined Q D. freifca e forar ST wehar

L 4

40.  Which letter replaces t ion 40.  foer st & o weramers fomg o TR W@
mark? Q 3T fereheq oh1 =7 il
B AD K B A K
VANIVANIAN AN /A
[} [ ] [}
?
G F P Vv L 7 S F b v L
A. R AR
B. S
c T B. S
D. Q C. T
D. Q

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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41.

42.

43.

44,

General Knowledge Related
to work of applied post

The material used as an ingredient of
concrete is usually -------

A. Cement
B. Water

C. Aggregate
D

. All of above

Medium irrigation projects are those 42.

costing-
A. More than Rs. 50 million

B. Between Rs. 50 million and Rs. 2.5
million

C. Less than Rs. 2.5 million
D. Rs. 1.0 million

Sondur Dam is situated in the -----------2 0 43.
district of the Chhattisgarh State.

A. Ambikapur

. Narayanpur ¢ O

B
C. Dhamtari @
D. Kawardha ®

Soil texture is- 44.

A. The arrangement of individual soil
particles with respect to each other
into a pattern

B. Ratio of sand

C. Relative proportions of sand, silt
and clay

D. Total moisture content of the soil

U< o R A GrTerd

D. =auyt

firg) hY e 2

A. T e T U g o wefer F Srer-
ST THET & T hT SFerET

B. X 3T
C. @, e K el & aver 3Tqama
D. firgt i et it

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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45.  Hasdeo Bango Irrigation project of the 45.  ffaTg TS it gaed o s afeistT

Chhattisgarh state comes under- % 3idTid 3TTdT 8-

A. Lift Irrigation Project A. g E=ms aiEsHr

B. Major Irrigation Project B. Tee Riars afEemr

C. Medium Irrigation Project C. HeT =TS aReSHT

D. Minor Irrigation Project D. e fres aheismr

46. Kelo river originates in the- 46. et et T ITH T &-

A. Chitrakoot hills located in the . .
Jagdalpur district A. STeAq fsiet | ferd feprege wetfeat

B. Ludega hills located in the Raigarh . .
district ’ B. # feord e e

C. Pali hills located in the Bilaspur it
district mﬁﬁ%qﬁﬁ

D. Mainpat hills located in the Surguja Q)WW 3 fept
district foret & feera

47. Chhattisgarh State is the biggest

producer of -------- é =
A. Oil seeds Q

A. foeea
B. Maize . B. HFHT
C. Pulses @ C T«
D. Rice ® D. =
48.  Why is crop rotation necessary? 48. g ThT AT ST 87
A. To increase the fertility of soil A. fugt h eear e & fog
B. To increase the quantity of minerals B. WSl il AET sie@ & foTg
C. To reduce the quantity of proteins C. Y &) 93T 9 A % fore
D. To plough various types of crops D. %ﬁwwaﬁwﬁaﬁ@aﬁaﬁ@%
ferg

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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49.  Soil consistency is- 49. firgt Y feemar 2-

A. Relative water content in the soil A. g o arer st g
B. Chqracterlstlc of the soil at various B. farfiret 7sf <6 T e fovgt oy s
moisture content
C. Mass of moist soil per unit volume C. Sfd 3ohS ST 7 it <hr s
D. Volume of water present in the total D. UnTS3T % et ST H IUTEd ST T
pore volume ST
50.  The commonly used material in 50.  fifie o fmior § ST 7t s arfi § -

manufacturing of cement is ---------

A. Sandstone A a@«
B. Limestone () T
L 2
C. Slate \s. <
D. Graphite
P 0% D. iz
. O:

\&\@\
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51.

52.

53.

Civil Engineering Subject
Related

The vehicle approaching a signalized
intersection at a speed of 80 KMPH in
the descending gradient of flyover with
1in 40 slope. If the braking efficiency
of the vehicle is 75% and co-efficient of
longitudinal friction is 0.35. Calculate
the distance required to stop the vehicle
at intersection if the reaction time of the
driver is 2.5 seconds.

A. 162 meters B. 155 meters
C. 106 meters D. 133 meters

Hydraulically efficient channel’s cross-
section is one which-

A. has the minimum hydraulic
resistance

B. carries maximum discharge under

given conditions of slope, roughness

and flow area
C. has the maximum wetted Pe
D. has the minimum hygdra
In a overhanging beam

supported at A &
free end. If itis

load at free end, m um moment
occurs at —

A. A

B. C

C. B

D. Between A & B

ol.

53.

frferer fowmr o gwifea

1S aTe 80 FrAft. ufr s A i & 40 7 1
o STRIE! BTt ATed BTS It § Ueh Hehalgeh
=T Y TR T TeT 81 A e it Tk
&ETAT 75% T 3Tfaed =80 0.35 &,
<RI T ATe 1 Ukl o STuferd gt bt
o <hifsr, I =meres st gfafshar g
2.5 YHUE B-

A. 162 "X
C. 106

AT =T IS I
%ﬁ’cﬂ%%ﬂﬁ

A A STerTes Tfatrg g 2l

. Torem oo, Grgue us aeTE &n i &t
T yftfeurfeat o s1Rierdy wa a2l

C. for stfepaw o11x T gt 2
D. fore = Stemtaen Brsa g 2l

B. 155 HIX
D. 133 HiX

T &9 (9%7) ABC ST A 74T B T
RIERTRTSId & qT C 3EehT 3T foehett gt
T o1 € | IS 38 ok R W ST e
T ST T AR STTE0T gl QR :-

s s |

»

A A
B. C
C. B
D. AQATB &=
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94.  The departure of a line of traverse can
be calculated by multiplied its length

with the ------

A. Cosine of reduced bearing
B. Sine of reduced bearing

C. Tangent of reduced bearing
D. Secant of reduced bearing

35.  During the treatment of raw water in
sedimentation tank, Particles settles
individually without interaction with
neighbouring particles, is called as

A. Flocculent particles Settling
B. Discrete particle settling

C. Hindered or zone settling

D. Compression settling

96. A loaded beam is shown in the figur,

The bending moment diagram of
beam is best represented as :-

O

Ueh T LT ol et Seeht oeelTs o
TTOTT Tk STH ToRaT ST &ehaT -

A. ferd feswue -1 o

B. mAfad e s @

C. Hfq faeha™ & = &

D. A fasaT o goshd S-S |

H[EE ST o HTHIEA e H ITAR o 6H,
epeadt swon & 3iq:foma fomn e S o9
STt SHUTY h e ST 8-

A. STHT

B. hUT STHT

7 ST S

Q\ﬁ. -

56. faq g fort o we witd e (<) fews g

2| S T TH AT ST e A TR
TR O Ged =3 a8 TeRfq aIar g

le—L—pe—2 | —He—|—>
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S7.  What is the variation in duty of water
from the head of a main canal (M) to
that in the field (F)?

A. Duty of water at M is always greater
than duty of water at F

B. Duty of water at M is always equal
to duty of water at F

C. Duty of water at M is always less
than duty of water at F

D. Duty of water at M can be greater or
less than duty of water at F

58.  What is the target mean compressive
strength at 28 days of M, grade
concrete, as per IS code : 10262-2009?
A. 30 MPa
B. 36.5 MPa
C. 38.25MPa
D

. 43.25 MPa

59.  Workability of concrete can
measured by slump, conf| actor

and Vee-Bee time. Co

following statem bility of

concrete :

I. As slump increaSes, the Vee-Bee time
increases.

I1. As the slump increases, the
compaction factor increases.
Which of the following is true?

A. Both I and Il are True

B. Both I and Il are False
C. lisTrueand Il is False
D. lis False and Ilis True

57. e q&A A8 (M) o MY & @ (F) 9 9+ 6
I (duty) § T forram 22
A. M TIH T ST (duty) T F 0
qrft % hded & 31ferek BT ]

B. M WO &1 €5 (duty) THITF W
Tt o ehdled o STe BlaT §

C. M WU & S (duty) THI F T
Tt & ehded & A BT &

D. M W 9T 1 242 (duty) F W I+ 6
S (duty) & 37k a1 1 S HFAT &

58. g 0262-2009 % STTER
M T 28 o ot rfera wre
. i

0 T UTEhed

*
%\é. 36.5 T UTEhet
0 C. 38.25 W UHahed

N

D. 43.25 B0 YT&ehc]

59.  dhshie i SR, T, SETE-Ture qe
rsit (Vee—Bee)WﬁqﬁﬂTW%l
ahshic Sl ST o foTT e et @
foem ifste;

I. A9 g WAt (Vee-Bee) Tu oft
ST

I1. T G TR TS 0 G o

T T o T g &2

A. 1d97 11 SHT g B
[ T 11 ST 79T B
[ Gcg & 9T 11 379

B.
C.
D. 1379 g a1 9T 2
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60. For sanitary and water supply works, 60.

what percentage of the estimated cost of
the building works are usually provided
in an estimate?

A. 8% for sanitary work and 7% for
water supply work

B. 8% for sanitary work and 8% for
water supply work

C. 7% for sanitary work and 8% for
water supply work

D. 7% for sanitary work and 7% for

STt Tt sl we Hedl S o f7T o
fermToT ShTRIT 2l STIATI TrTd 1 foha
gfereTa SATehar § ST ST 872

A. ETE o T 8% o Stet AT
1l o T 7%

B. WS Y o fAIT 8% qe1 STet STqfd
1 o fore 8%

C. ©WS HH o fAC 7% qo01 I AT
&1l o fo1T 8%

D. |®TE R o T 7% o7 STt A

water supply work — 79,
61. A constant head permeability is used 61. TATRIT ST H TS STl 2-
for- .
_ _ \\A“ﬁ@a%mﬁqﬂ%%m
A. Coarse grained soil
B. Silty soil 0 B.. e areft 7t % fere
C. Clay soil é C. et etk forg
D. Organic soil Q D. S war o fow
O
62.  Hydraulic radius %I is 62. . & T ! ford ATelt Y Taga
defined as the ra'&lR ----- o aT SIaT B
A. gfr(;;sa rs;:(‘;tllonal ea of flow to depth A el 3w ST — .
&Rt TSl ATt 3hi TETs
B. Cross sectional area of flow to :
wetted perimeter of the channel B. et % '6" ePTIPR
SABA U ATeAT i 3T TS
C. Cross sectional area of flow to
width of channel C. FATeil oh STeTe <R SISl STt
AT T ST HISTE

D. Wetted perimeter to area of the
channel

D. et AT 37T, IHHTT Ud SEeRT ST
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63. If the tensile stress of reinforcement bar 63. gfe o S SEehT =am@ D @ Sl a9

of diameter 'D' is 140N /mm? and the gfgee 140N / mm? ? 3 st gfgaet
bond stress is 0.6 N/mm? the required 0.6N/mm? &, a 3Trevae sie e I
bond length will be : - o
A. 45D
A. 45D
B. 50D B. 50D
. 3D C. 53D
D. 59D D. 59D
64. The most suitable method of irrigation 64. Fyaut ﬁ?ﬁ\—ﬂwaﬁ &1 o forg fe=ms
for areas having low rainfall and strong

winds is-

A. Furrow irrigation
B. Drip irrigation
C. Contour farming
D

. Sprinkler irrigation

65. If *p’ is the precipitation, ‘a’ it l 65. afg o ENQUT% ‘37" ek IUHTI R
represented by a rain gauge &, qAT T Ueh STOTTguT &5 H SATid
the number of rain gaug aﬂﬁwaa‘ra%’mwﬁaﬁ A i sfe
catchment area, then tr@ted mean . ’
rainfall is- ot &
a® za’
B. Zap B. Zap
n n
C. Zap C. Zap
Ya za
a3 sa’
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66. A catchment consists of 30% area with 66. Uk STAURYT & T 30% & IS Fadich

runoff coefficient 0.40 and the 0.40 TAT AT 70% &5 3T9aTE F=rdier 0.60
remaining 70% area with runoff -
coefficient 0.60. The equivalent runoff * 3% 8l HAge &
coeff. will be- A. 048
A. 0.48 B. 054
B. 0.54 C. 0.63
C. 063 D. 0.76
D. 0.76 o

67.  As per 1S-10500 (2012), what is the 67. W A-10500 (2012) o HTHR T 6
maximum permissible limit of turbity a7 Yerfeues Bg T B Hr eI §
(NTU) of drinking water in the absence AR (NTU) %1 ST S € &

of alternate source.

A. 01 A. 01

B. 05 B. 0@
C. 45

D. 60 . L. JoU

68. The trapezoidal cross section of road fieh TeseT o EHTRITRI ST T
embankment in banking is having (UISITESA hid THT) o fohi W et
fc.)rmajuon width of 10m, side sloped of 10 et & 9T RRR T B 2:1(H: V) 3R
2:1(H:V) and average depth of 1m. ,

Calculate the quantity of earth wi ST TETE 1m 1 300m TfeIrs % fere forg
300m length. Assume that the T TS (37 Foh) 31 AT 1A TS| T8
traverse slope . O AT g foF Tt T TS SITIE BT T <
A

. 3
. 3000m @ A 3000m3
. 3

3100m ’\\'Q B. a100mS

C. 3
3600m C. 3600m3
D. 3
3200m D. 3200m3
69. Gravity dam is most suitable when the 69. et S0 wEH ITYH BT & S A BT &-
foundation is ------ A FESR
A. Weak
B. Strong B. 9K
C. With heavy overburden C. Wy st h ey
D. Rocky but cracked D. =g cifer Zer ga
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70. Which of the following is equivalent to 70. {9 § 9 19 91 Uk fohell UTEehet o Hehe

one kilo-pascal? grar 82

A. 1000N/m? A. 1000 T / HY’
B. 1000N/mm? B. 1000 =g / fa Y’
C. 1000N/cm? C. 1000 =T/’
D. 100N/m? D. 100 = /=¥’

71. Which one of the following test can be 71, U ETeHT o TRl SHIAS o SH Soeel-
performed for making the line of sight Tt ST 3787 3 T GTI-ET W& &g
parallel to the axis of bubble tube, : -
during the permanent adjustment of a PR - Ror o i
level? I
A. Spire test

B. Cross-hair ring test
C. Two-peg test
D. None of the above

72.  Which of the following is the purpose 0 727 1 9 -1 oA 6 3¢ 87

the valuation?
A. TETA o1 I[E8 ATHH

A. Approximate estimation

B. Analysis of rate O B. T faas
i ation AN 1 Toreqa 9
C. Detailed estimation C. T T 317
D. Taxation Q D. a-ferfor
73. Jurisdiction of the superintending 73. e U o St SETe formr o
Engineer in water resources department arefteror SIfRiaT &1 b A oft Feear
of the state of Chhattisgarh is also 5.
called:- '
A. Division A. g9
B. Zone B. ufes
C. Basin C. FBKR
D. Circle D ted
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74.

75.

76.

Which instrument is required for setting 74. U SIS W@ % 1Y 45 3737 % v T

out an offset at an angle of 45° with a Asterd gl GHTEITSI T B hIET ST
chain line? IITF 872

A. Optical square A. ST GHEhIOT HTGe A

B. Open cross staff B ©al oSl e e

C. Prism square C. guuTd GuehIv AT A

D. French cross staff

D. %4 3el-f@T 3
In an RCC staircase, supported at both 75. wh bshic ST ST T SR IT
ends, the span is 4m & rise is 3m. Total i YT UTE 4m TT hed 3319
uniformly distributed load is 10kN / m? T el TR R
Considering 1m width, what will be o s
maximum bending moment? N /'m* 2 | T Hie <SS A 7T

\ T 3ATeef R E?

A. 10 KN-m

A. 10 kKN-m
B. 20 kKN-m

B. 20 KN-m
C. 11.25kN-m

Q C. 11.25 kN-m

D. 15.31 kN-m .

D. 15.31 KN-m

2

The central core&&)ned 76. SIS desiel YR T she 1T shIT fET sIfer ———-
embankment type earth dam ------
A. TS i Uskar &
B. Check the seepage B. feama ottt 8
C. Gives stability to the central C. s 31T wire ol feerar qar @
impervious fill .
D. U ae & § 9K foafd sar @

A. Prevents piping

D. Distribute the load over a large area
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77. What is the correct sequence of 77. S o FARIHIRTT o G, STHAT hl
formation of the following compounds Sufeefe & fet A & T FTES A

chlornation of water? T
1. NClg 1. NCl3
2. NH,CI 2. NHCI
3. NHCI, 3. NHCI;
Select the correct answer using the Afrel o2 TR -t T STV HAd g
codes given below I AT =TI IR
A 1,23 A 1,23
B. 2,3,1 B. 2,31
C. 312 C. 3,1,
D. 2,1,3 D. 28
S
78.  For construction of a column footing . W T (HiaAH) o g o fmior & fore fe
following works were executed- 1 fopu Tu-
A. Excavation of foundation, 0 A. qﬁaaﬁ@—q—rg,
B. Back filling with soil, B. firgt i g i,
C. Levelling course by plain C. AT 3 T STyaford sshie i
D. Reinforced cement cqnc ng, i,
E. itlze;llrr]emforcementw b, s e
F. Formw%rk \' k. Wsmaﬁ%%ﬁuﬁ?ﬂ?ﬂq‘,
G. Curing F. e,
What will be the sequence of recording G. T T
measurements? T % HTT S oA T shH T BT
A. ACFEDGB A. ACFEDGB
B. ABCDEFG B. ABCDEFG
C. ACDEFGB C. ACDEFGB
D ACEEGDB D. ACFEGDB
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79. Calculate the quantity of the earthwork 79.  wurT SIS foh Wk 100 HieX o A8t

in cubic meter for a canal embankment desy, foraer 1 = foL 3 Tt 37K 5
of 100m long having heights of 3m and : 5t :
5m at the two extreme edges. Top Hiet W E, % fere Wﬁm]ﬂaﬁ
widths of the embankment are 2m and AT BT SATITAHAT &P | FEeie T ASTS
4m at the two extreme edges and side 2 HieT 3 4 HeT § 3R A1se & 2:1 7 |
slope is 2:1. Use trapezoidal method ST et JuTTett ST SUT &t |

A. 3500 A 3500

B. 4000 B. 4000

C. 4200 C. 4200

D. 4700 D. 4700

80. The gradual reduction in value with age
of a property is known as -------

A. Revaluation
B. Appreciation
C. Depreciation
D. Devaluation

81. The double mass analysis is adopte 8l. rEU S| farsgwuT STUTHT ST 8-
A. Estimate the missing rain A. B TTATI-ATHST o T &
B. Obtain intensities of,rai B. fofr= sttt & aut shi dierar 3md e
various durations Bl
C. Check the consi fdata C. mjﬁw%qﬁwa
D. Obtain the a& of storage D. T Wi S0 T B ST
needed to maintain a demand . >
TTOT <hl AT ITH A B
pattern ©
82. The angle of internal friction, is least 82.  3farfieh BroT ShYOT =AW BNl B-
for- A. Foiia-areT dieh gar i

A. Angular- grained loose sand

B. HIVF-SHER 9o a1 H

B. Angular-grained dense sand .
C. Round-grained loose sand C. MR- ﬁa'lm‘i‘aﬁ
D. clay D. Feftgard
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83.  Which of the following instrument is 83. {7 U & I |1 SUHIT TS A T JUINT

used for measuring the discharge? fopa ST 82

A. Current meter A. FE HeT

B. Manometer B. dHex

C. Venturimeter C. a«—c\lﬁqﬁa

D. None of these D. R E§ Fs TE

84. Which estimation method is suitable for 84. fafsr=r Mers arctt Sl qur fia < fafi=

different thickness of walls and different T o fore fet o & o6t ot otTeher ot
levels of foundation? fafer 9
A. Longwall short wall method A IR IC IS IO!
B. Centre line method Q)JW%@T%TQ
N .
i * . .
C. Partly centre line and partly cross \ C. ifTE me T quT TR et daw
wall method %'ﬁ;l_

D. Predominant estimate method 0 )
D. M 3Tishard fafer

85. If the hardness and alk of given 85. 3T 31TeR STt o Teh 4 H Faal T

sample of raw w g/£ and &R e Hrsie (CaCOg) % way
200 mg/ £ as CagOy,reSpectively, then & 350 fir. 7./ <fiex o 200 fir. 7T, / <fex
its carbonate and nOw carbonate @T?ﬁﬁﬁa W;maﬁga@ﬁﬁ

hardness in mg/ £ (as CaCOg) will be --
------ respectively.

. / 1T | (CaCOg) st wifer 2rl-

A. 200 and 150 A. 200 T 150
B. 150 and 200 B. 150 wd 200
C. 350and zero C. 350Td 31
D. zeroand 550 D. YT 550
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86.  Which one of the following method for 86. T HIY i o SAEHA H el WIelS

setting out circular curve is suitable, ST 92 ST S5k ST o &d e
when the ground is uneven and rough ﬁaﬁqw;lﬂaﬂm%‘? >
for taking linear measurement? o
A. Offset from long chord method A, eft S & eerea g fafer
B. Successive bisection of arcs method B. <MY ol 3L HfgTSH farfer
C. Two Theodolite method C. I PrimEe fifer
D. Radial offsets from tangent method D. orei e Sedfta daga =6 Bfy
87. Which of the following statements are 87. W H | SIF |1 o Gt YaTE ot ATt
applicable to open channel flow? &+ for 2\ LIV,
A. The Hydraulic Gradient Line (HGL) A JeuTT 3T (HGL) U 59
and the liquid surface coincide () 99 § A @

B. ?I'he. Hydraulic Gragiept Line (HGL) ’\ B. S Iferd YaurdT Y@ (HGL) 5 1
is higher than the liquid surface .

C. The velocity distribution is 0
symmetrical about mid-depth C. 1ol =T foreror He et o EHiHd &
D. 390Rk & ¥ FIE el

D. None of these Q
*

88. In an RCC sectiofsfe of stressed to 88. ueh Yaiferd shshie o sh1e | shshle A Ufdered

maximum value& €ss in concrete meq—gﬁmwwﬁﬁ
reaches its maximum value. The section Tfderet A9 STfrehdd U deh 7 Ug=aT 8 | T8
is called- T (Section) I Fed & :-
A. Under reinforced section A 3T YT FTE
B. over reinforced section N —
C. Balanced section .
C. E?l'%rdo Ears
D. Critical section .
D. hifceh e
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89.  Which of the following irrigation
technique is preferred where area has a
irregular topography with excessive
slope?

A. Sprinkler irrigation
B. Drip irrigation

C. Border irrigation

D. Furrow irrigation

90. Bacterial concrete is one that-
A. is affected by bacteria
B. is placed in marine conditions
C. isused in polluted environment

D. has auto crack healing capacity

91.  Which of the following is true?

A. Runoff = Evaporation +
Precipitation

B. Evaporation = Precipitatio
Runoff

L 2

C. Infiltration = Precipj Q
Evaporation

D. Precipitatio Qraﬂon+
Runoff + Inrfi&y n

92. Which foundation is not fit for concrete
gravity dam or for rock-fill dams?

A. Solid rock foundation

B. Gravel foundation

C. Silt and fine sand foundation
D. Clay foundation

)

92.

frefafiaa o & 7 it f=ns e =t
STeIfeeRaT &1 STTdT & STet & | ST tereh
&AM % |1 AT TAThia Bt 22

A. foewma fG=r
B. -3z fiamg
C. dimr s
D. U f=rg

A. S Sframopet & st gt 2
B. ore gagg feorfcrai # werfua foparm Strar
g

é@ Sl SITCTTerToT & YT fohaft STt

D. S Td: 3T T 9 A &mar et &
e 5 9 sl w2

A, ITIETE = TSR + 0T

B. TSR = FH0T + HIETE

C. frama =yt + arsdfeRtor

D. U = TR + 39S + FEa

shehie Iferdt stier 3 Tep-fohet wifedt o forw
I € e ST T 272

A. I\ IgH g

B. ssRiHla

C. e 3 udH @ i

D. fugt i fia
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93.  Valid range for S, degree of saturation
of soil in percentage is-

A. S>0
B. S<O
C. 0<S<10
D. 0<S<100

94." Which Bogue’s compound is
responsible for early strength to cement?

A. CS
C,S
C,A
C,Al

O 0

95. A rice crop is to be irrigated in a field
covering an area of 2400 ha, the duty
and base period of rice are given as
860 ha/cu m/sec and 120 days

A. 500 ha-m

B. 1400 ha-m ¢ O
C. 2000 ha-m @
o "

. 2880 ha-m \'

96. Methemoglobinemia, or blue baby
disease is caused due to excess of ------

A. Chlorides
B. Fluoride
C. Nitrates
D. Sulphides

93.

94.

O

respectively. The volume of water
required in the field is nearly ;

TaT il HqHar (S) st wfrera # A1 wiuT -
A. S>0

B. S<0

C. 0<S<10

D. 0<S<100

I W1 bt ATk, HH 7 ESATAT dreha
o ford TSTeTam Bt &2

A. CS

B. C,S

C. C,

2400 BT SH ok U W § U Y A
¥ fH=TS T 8 9 o foTg g7t aen
TR 9T 860 BFT Tfl Tt If Tohvg

qAT 120 f& (sFHsT:) B € H A% ST
T I (STH)

A. 500 TF HiX
B. 1400 g Hiex
C. 2000 g HieX
D. 2880 TR X
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97.  The magnetic bearing of a line AB is
South 45° 30" East and the declination
is 5° West. The true bearing of line in
whole circle bearing (WCB) system is -

A. 129°30'
B. 139°30'
C. 319°30°
D. 309°30'

98. As per IS code 1077 : 1992 the
maximum Water Absorption of common
burnt clay brick is not more than by
weight for higher classes.

A. 20 percent
B. 15 percent
C. 12.5 percent
D. 10 percent

coefficient of 0.4Q.

intensity 3 cm/h duwation longer
than the time of ¢ tration occurs in
the catchment, then what is the peak
discharge?

A. 3.5m3/s
B. 45m3/s
C. 2m3/s

D. 2.5m3/s

T (@1 31 o T Tk faehuT aferor
45°30" 74 & 3R 31efr 50 ufem 31 i ga
faehT Teafa # X o1 arEafash fdehd
g

129° 30’

139°30'

319°30°

309° 30°

o o w >

WA A 1077 : 1992 % STER 3o

SIoft i ekt firgt & g1 T, a5
ﬁ?@wﬂwm ------ g 3fereh
ﬁ@ |

S QOW

*
99. A catchment area of 60%; runoff 99.
0 f

*

B. 15 Yfdsra
C. 12.5 yfawra
D. 10 gfdsra

Teh 60 L T STAUEYT & 0.40 TIITE
fordis ar g | afe 3 gt /SR FUm
AT UhIT B o G © 370k geaafy
o SICTIET &5 § Gfshd T 8, ae =i
HYETE BT

3.5 ¥ Hiet / Hehe
4.5 o Hiex / Tehe
2 ¥ et / ke

2.5 O HieT / §hs

S o w »
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100. A ridge canal is also called a-
A. Watershed canal
B. Contour canal
C. Side slope canal

D. None of these

101. Hierarchy of the officers of works
department of the Chhattisgarh state
government (from high to low) is :-

A. Chief Engineer

Superintending Engineer
Assistant Engineer

Executive Engineer

. Chief Engineer
Superintending Engineer
Executive Engineer

Assistant Engineer ¢

. Chief Enginegr @
Executive E %

Superintending Engineer

Assistant Engineer

. Chief Engineer
Assistant Engineer
Executive Engineer

Superintending Engineer

100. us JIetT-eX i T ft el STl 2-

101.

KO

A. STAUEIT A8

B. @H=a-@l
C. I g T

D. 3wk § & IS T

BTG TST o i [T | STferentiEt o1

(39 § ) T_TIshA B -

A T
TfepRrar
TfepRrar
0 Wﬂ?m
B. ey sIfRiar
Freffegur ST
FRIUTE AT
eI JTNRIT
C. He AN
FRIUTE SAfrar
Freffegur ST
eI STNRIT
D. He AR
T AR
FRIUTE AT
Freffegur STRiAT
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102. what will be the quantity of bleaching 102. 500 wftex sret, et stife wr

powder (gm) required for treating 2.0 i, 7w, / <ot B, 3 Su=IR 2 forisieh =t
500 I|tre§ of water, whose chlorine 1 Rpat T STTEvEs SR T S fr
demand is 2.0 mg/ £ ? Assume the ) . .
bleaching powder has 30% of available fertren <ot & 30%% eI I 2
chlorine. A. 6.680 7T
A. 6.680 gm

B. 3.340T™
B. 3.340 gm

C. 3340u™
C. 33.40gm

D. 0.33471™
D. 0.334gm

103. The shear strength of plastic undrained 103. S=fieft stuaTfed HaT st sha &HdT

clay depends upon-

A. Internal friction

B. Cohesion _
*

C. Both (A) & (B) \ €. (A) 3R (B) I

D. Neither (A) nor (B) 0% D. AT(A)T(B)

104. Choose the correct statement.Qs s 104. g Y 1 93 i)

A. A ‘spillway’ is a structu@ A. T “3ferecdd 7Tl 98 §EHT §, ST 914-
constructed at a da r T YT TR STeT Shl HUT hl IRT &
effectively di i the surplus T T g ° aoTe & yaTed e 2
water from to downstream TS ST B N

B. An ‘Ogee spillway’ is mostly B. U ‘3t srfreers AT Sehie Teed

suitable for concrete gravity dams

especially when the ‘spillway’ is aiter 3 fere saferp 2 I BT g
located within the dam body in the ) iL . e, S reAfereerer mmt S et
same valley. H sitey o Siet feore &

C. A ‘Chute spillway’ is sometimes C. Tk 34'@1’-?13[14'!1'?’ 1l
known as a waste weir STt off T ST 2|

D. All of the above D. SWih axft
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105. The plasticity characteristics of clay are 105. fort o Smiar AETOT ST FHRT &-

due to-
A. ITEENNG St
A. Adsorbed water
B. Free water B. g Sd
C. Capillary water C. hf3rehT ST
D. None of above D. SWIth § 9 IS el
106. Geodimeter (Electronics distance 106.  foRiTSIHTeT (serariien gl aTaeh )
measurement device) is based on ------ AT &-
A. w:\/%rsopagatlon of modulated light A GTEe w3 g ot
B. the propagation of infrared radiation B. STeTTth ScHH oh ST T
C. the high frequency radio waves C. e aom o
D. the propagation of micro-wave D. F THTOT X
107. Which type of cross drainage structure lov. %;t{\tﬁ?r T ST &L (FSL) ot Toheft
is made to allow the Full Supply Level \ T 3 9 % 9 § TS /¥ R g
(FSL) of the canal to pass under the bed ' & 7 oy
of the train? 0 =h1 R SFe AT ST STl &7
A. Aqueduct A. S 1
. Super passage B. gw IS
: Q C. &R

B
C. Level crossing O
] .
D. Siphon aqueduct @ D. q@ch—,fsm@—i

108. If the depth is 8.@ a field over a 108. 10 T o ATIR 9T W U Td H TS
0

base period of 1 , then the duty is- 8.64 4. B, A T &

A. 10 hectares per cu m/s A. 10 ¥ ITd 99512 / Tehve
B. 100 hectares per cu m/s B. 100 g% 9fd et / Gahve
C. 864 hectares per cu m/s C. 864 TF Ui g-Hiet / Gehve
D. 1000 hectares per cu m/s D. 1000 2% gfq et / Gahve

hectares per cu m/s —>ha/m3/s
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109. Reynolds number is the ratio of the 109. Hice & SIEcd 9 T —------ T ST

inertia force to the- gt 8l
A. Surface tension force A. "dg ddd
B. Viscous force B. 9 &l
C. Gravity force C. TTecaTshdvT s
D. Elastic force D T a9
110. The internal dimensions of the slump 110. & i o HAqReh A d -
cone are- A. = = =200 fr

A. bottom diameter = 200 mm i = = 100 fr ot
top diameter = 100 mm .-
and height = 300 mm

B. bottom diameter = 200 mm

top diameter = 300 mm ()za g :
and height = 100 mm . a8 = 100 fy ot

C. bottom diameter = 100 mm %\ €. FearemE =100 frsft

top diameter = 200 mm Qﬁﬁfqm =200 fer =t
and height = 300 mm e Frg = 300 i ot
D. bottom diameter = 250 mm D. e =am = 250 fy
top diameter = 150 mm Q i =2me = 150 for =t
and height = 350 mm O Te 4TS = 350 fa i

>

111. During Theodol@ing, which of 111. PRITSIATEE SIS R H, HeTsh o aTg

the following erro be eliminated by 3T TeTeh % aT¢ JEAUTT a7 ST1Ed iRt e |

taking the mean of face left and face B A T S e s R S

right observations? o & ’

A. Error due to imperfect graduations A, Ffeqet sierich < shror Afe

B. Error due to eccentricity of verniers B. afre ot forshrsiar o shror Ffe

C. Error due to line of collimation not C. guriaYar ¥ Afast 377 & dsad 7
being perpendicular to horizontal
axis B FERT

D. Error due to imperfect adjustment of D. wfe eI o SRV FHTEISH o T
plate levels e

po)
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112. Rainfall hyetograph shows the variation 112. ot greium fofir=rar gwiiar 8-

of- A. GHY % 91 ATad] aut Y
A. Cumulative rainfall with time

B. Rainfall intensity with time B. R 5 er T <61 ftret A
C. Rainfall depth over an area C. U & 8 o 1 s hl
D. Rainfall intensity with the D. Tl aut o |1 ot st <o
cumulative rainfall
113. Who is the administrative head of water 113. eftaTe TS o STt THTe fosamT
resources department of Chhattisgarh ST S I 2, ST ST o ST e
State, directly responsible to the TeTET °
government? )
A. Chief Engineer A. T ST

. Superintending Engineer B.

B
C. Engineer-in-Chief
D

. Executive Engineer Q}Fra‘mw rferiar

114. 1f 20% of the reservoir capacity is aﬁ 30 TofoTem SHtet ST T 20%
earmarked for dead storage in a storage & qa-9igruT 3 forg fifee 2, qen anfien
reservoir of 30 M cu m; and the av _ e T 01 T ST A e

annual silt deposition in the rese
0.1 M cu m, then the useful li 1 I S fohe o e o € e

reservoir will start reducing @ A 6099

A. 60 years
y @ B. 12099
B. 120 years

C. 240 years ® C. 2407
D. 300 years D. 300

115. canal drops are required to- 115. et AT ATEITF B B-
A. Dissipate excess energy A. AT ST ol T8 A g
B. Dissipate inadequate land slope B. 319ATH Y @A sl 78 i 2d
C. Dissipate excess land slope C. SRR iy oo™ I 78 T 2
D. None of these D. 3% H & T
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116.

117.

118.

119.

If aR.C.C. beam is likely to fail in
bond, then it's bond strength can be
increased by :-

A. Increasing depth of beam

B. using thinner bars but more in
numbers

using thicker bars but less in
numbers

providing vertical stirrups

C.

D.

The Maximum Area of tension
reinforcement shall not exceed as per
IS : 456 - 2000

A. 0.02bD
B. 0.03bD
C. 0.04bD
D. 0.05bD
A simply supported beam of span 4.50m

carries two point loads of magnitude
15 kN each at 1.50m & 3m from t

support. Magnitude of shear f&@
left support is : - O

L 4

A. 7.50 kN @
B. 15kN

C. 30kN \\'Q

D. 22.5kN

Equation of continuity is based on the
principle of conservation of-

A. Mass
B. Energy

C.

D. None of these

Momentum

116.

117.

O

119.

afe foreft werfora shsfie it erT Fr s o

foret B shT STEAT & T 39 &R () |

st are Y TG SIT Tehd &:-

A. o (sfi) Y TS TRt

B. Udc qeT 3Tk GE&AT H Sl T JANT
FT

C. YIS qUT HH G&AT § DST T TINT oL

D. Jeater feeted sht T o

W HTFeh 456 - 2000 % STTER T
STt T SR &bt [+ & Sfereh 7t

(S

D 0.05bD

4.50m Tisft Teh Yreaciford sfH (e), st
AU H 1.50m T 3.0m g W 15 kN
qiETOT % W (point load) 3T I8 T & |
Tt FUIE U STUETOT ST T JIHTOT T
g?

A. 750 kN

B. 15kN

C. 30kN

D. 22.5kN
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120. When not specified, the volume of steel 120. S fFAfde T =1, af I Y &t v 7 A

in R.C.C. work is taken as :- 1 fr ST € |

A. 1% to 6% of R.C.C. volume A, AT H Y STET HT 1% T 6%

B. 2% to 4 % of R.C.C. volume B. (@t ) 3IdT 1 2% O 4%

C. 4% to 6% of R.C.C. volume C. T ST FT 4% T 6%

0, 0,

D. 0.6% to 1% of R.C.C. volume D s EE ST 0.6% A 1%
121. Which of the following is not 121. fyfefad # o for wen o 1 g & 318

considered in unit rate analysis of an X fas3wor § 7 < Tt ST 82

item of a building?

A. Contingency expenses

B. Present rate of skilled labour
C. Contractor's Profit

D. Present rate of material

A. IRk =TT

122. Consider the following statements :
Shrinkage of concrete depends upon the,

L 2 h
1. relative humidity of the atmosphere \
2. passage of time 0

3. applied stress 2. T o I T

Which of these statements is/are 3. qgch el R
correct? Q SUXITH YT o TIUE T i | e e
A. land?2 . O g9
B. 2and3 @ A. 132
C. lalone Q B. 233
D. 1,2and 3 \ c. fud
D. 1,233
123. What is the ratio of cement and sand for 123. 357 3 I STEdt 3T wATeel o ford dide 31t
outer plaster of bricks? I &7 ST 81T 8-
A. 1:3 A 1:3
B. 1:4 B 1:4
C. 1:5 c. . j c
D. 1:6 D' . : 6
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124. A steady flow is one in which-

124, RoR 979 9 § for-

A. the velocity does not change from A. STTE STE YT 7T IRt Tet 2T /1

place to place

. . B. ST 3 faeT Iae Hehd! & TReq TRETor

B. the velocity may change its ) >

direction but the magnitude remains qafdia T & =l

unchanged

’ C. for gu forelt weh foreg o wrwrr o |y am

C. the velocity at a given point does ufafda T2 aar )

not change with time
D. None of these D. I H & 1< Tl

125. cCalculate the evaporation (mm) from a 125. w=s areefieRor (fa. ) St o
pond, if the pan evaporation is 40 mm. TSR 40 T o 81 9
The pan coefficient is 0.70. w@ 3
A. 28 Q
. 8
3
B. 12 %\ <
C. 28 O ¢ 2
D. 12 D 1.2
O
126. The Kuchling's formul 126. 3fg Q Sfet ot wm (eft/firfae) 3t p

estimation of fire de

A. Q=4637/P (1—0.01JE )

B. Q=3182/P
C. Q=5663/P

D P

" Q= 1136{3 +10}

ST (FSTRI H) & ¥ ST <t 7 3y

A~ Q=4637P(1-0.01/P)

B. Q=3182P

C. Q=5663/P

D. P
Q=1136| - +10
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127. The Piezometric head is expressed by : 127. afg

where p — Regeama
p — static pressure 7z —> Evfora T
z — potential head y — fafsms s
y —> specific weight o —> TR 35 T T A
g — Acceleration due to gravity a}qﬁsﬁ%ﬁzﬂﬁﬁw%maﬁm
A. yz+p A yz+p
B.
C.

gz+B c gz+E
D-y., > W

: O

. O |
128. The standard size of specimen for . T TH I o STER fadiof 7Taieh Sfier
conducting the modulus of rupture as o ToTU T ST ATk 3TTRR 2-
per IS code is- O °
A. 15x15x60 &,

A. 15x15x60cm é
B. 15x15x70cm Q . 15x15x70 ..
C. 15x15x65cm . O

D. 15x15x75cr@

B
C. 15x15x65 9.
D. 15x15x75 94

129. A plumbing device IS used with an 129. vt sit=er # gfvret e o o H S o
Indian water closet, to prevent the entry T AT o TIT Sk et a5
of foul gases to the house as well as for e >
water sealing is called as --------

A. Anti-Siphon trap A. it | T

B. Intercepting trap B. 3aiiersh urd
C. P-trap C. U
D. None of the above D. 37t & & w5 7
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130.  Which one of the following is suitable 130. sft & sredt g% wedl U SAvenfieh R A

for forecasting population of fast STEREAT % T o o Sfaa 89
growing urban-industrial town? ' =
A. Arithmetic Increase method A. s e fafi
B. Geometric Increase method B. safufeer afes fafer
C. Incremental Increase method C. Freaefiar gfes fafy
D. Decreasing Rate of growth method D. forerma bl sredt et fafer

131. A 6-hr storm with hourly intensities of 131. eEe I SFE™ 7, 18, 25, 12, 10, 7T
7,18, 25, 12, 10 and 3 mm per hour 3 i ot e = i frerar & & 33 iy,
pro_duced_a run-off of 33 mm. Then the 1 STTATE I AR | AT § D
¢ -index is-
A. 7 mm/hr A. 7 e
B. 3mm/hr
C. 10 mm/hr
D. 8 mm/hr ¢

to prevent the sliding failure of retaj

I T 5k T SHT?

\D. 8 fer.sft./ =it
132. Which component will be provisioned %01; YA ST AT ToReeT STawheraT shi Tsh o

A. At it

L 4

. HAET AR

wall?

A. Shear key Q
B. Shear wall O B

C. Counter fort @ C. Yfets g
> N\ .

. Buttress \ . Fel-daR
133. The process of distribution of water 133. e e | WAL e UT o foraeor <ht
from main canal to branches is termed TTHaT FREATT & —ommmeem
as -------
A. Canal regulation A, TR
B. Channel flow B. = W8
C. Sluice gates flow C. &3 TIE WAl
D. falls D. ®icH
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134.

135.

136.

137.

Calculate the infiltration loss, if the
intensity of rainfall is 2 cm/hr and
duration of rainfall is 3 hrs. Evaporation
loss is 8 mm & corresponding runoff is
3.6 cm.

A. 24 mm
B. 8 mm
C. 28mm
D. 16 mm

What does a Gantt Chart indicate?
A. Balance work
B. Efficiency of project

C. Comparison of scheduled process
and actual process

D. Progress of work

In an irrigated field, the net irrigation
requirement is 15 cm, the application
efficiency is 80% and water conveyanc
efficiency is 60%. What is the gro

irrigation requirement (in cm
A. 31.25 O

.
B. 11.25

C. 18.75 \@

D. 25.00

The application of a single coat of low
viscosity liquid bituminous material to
a porous granular surface preparatory to
the superimposition of Bituminous
treatment or mix is known as --------

A. Seal coat
B. Tack coat
C. Prime coat
D. Overlay

C.
. ;C)maﬁm

134. frong effa Y omT hifste, e ot i digar

2 9oy /o T aul Y ST 3 H R |
arediteRtor eafer 8 T, =Y. e emey STuare
3.69. 4 2

A. 24 fir =t

B. §fu. .

C. 28w =

D. 16 fq. .
. Tz = gwifar &2

A. I HR

B. ShT gegar

AT AT fereh kAT sht

U e &1 , 37ea =S sht ATk
15 9ft, SATIANT S&TdAT 80% 3T ST Iitere
T 60% & | Tehet TS STTarwrehar (At
o) . 87

A. 31.25

B. 11.25
C. 18.75
D. 25.00

. Fo3Th IMER AdE T SEERTT il dIRT &0

[ ST aTeft ST 3k ot |t ot
Tohol UL o T <! el STl 8-

A. R I
B. g Wd

C. e
D. & I
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138. Which test is used for soundness of 138. a1 o eafaudieror o for st ©ft Sif=r hr

bricks? STt &2
A. Efflorescence A. TEhHeT
B. Crushing strength B. &< Yk
C. Water absorption C. ol STauiyor
D. None of the above D. 3 & & s T
139. The approximate ratio between the 139. dive s ashic i afh 1 79 fer e 28 o
strengths of cement concrete at 7 days faT &1 SUT=F 9T BIdT-

and 28 days is-

Ay, o7

. \® ¥

D. % > 3
SO

140. Which of the following is a non- é 140. {7 o 9 shiaET TR-Treret ot uTaes 82
T HE )
recorqlng rain guage. A —_—
A. Simon's rain gauge
Q B. WH-YshR aufaTdeh

. Weighing type rain
C. feft areedt awiamaes

B
C. Tipping Bucket raingda
D. Float type r@ D. vafgd YR IuimTIeh

141. The active earth pressure coefficient K, 141. wfsr qedlt aTer TUTieh K, o7 ATT=ard: 379
generally refers to- 8-
A. Effective stress A. STt Sfdee
B. Total stress B. Fal giderdt
C. Neutral stress C. 3o ufqest
D. All the above D. 39U ot
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142. The deflection of a rectangular beam 142, JTIATRR e () AT foreta o6m fema s

can be reduced by :- TFHAT S -
A. Reducing the depth A TEEFHRFHEY
B. Increasing span B. fordr (v0M) sem ¥
C. Increasing the depth of beam C. ol TewE Ten o
D. None of the above D. TREH Y FS T
143. Consumptive Irrigation Requirement is 143. 3qsny =g SATagehdr shi UMt
calculated using the following- ferferfaa o1 U=t shteh <t STt 2
A. Consumptive use A,
B. Effective rainfall B.
C. Water lost as percolation _ Fearg 3 =9 8§ @) e
D

. Both (A) and (B) ’:\ b A st A

144. |n the network shown below the cr@ 144. o= go1Ta Jeaeh § shifds 99 (Critical

path is :- 60

Path) 11T

(Number beside arrows represent (FF 35 7 2 s for ot s
duration of activity) ) e
A. 1-2-3-4-5-6
A. 1-2-3-4-5-6
B. 1-2-4-5-6
B. 1-2-4-5-6
C. 1-2-3-5-6
C. 1-2-3-5-6
D. 1-2-4-3-5-6 D. 1.9-4-3-5-6
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145. Egg shaped sewer are preferred to
circular sewer in combined sewerage
system, because --------

A. they possess better hydraulic
properties

B. they resist soil erosion

C. Velocity remains higher even at low
flow

D. None of the above

146. The blanket in earth dam is provided----

A. At the ground level on down stream
side

B. At the ground level on up stream
side

C. At the ground level on centre

D. On the down stream slope

147. For a well graded sand, the coefficient

of curvature should be-
A. More than 3

B. Betweenland3

C. Lessthanl

D. None of the above R

148. A pipeline 60 cm in di

ata Y-junction i

and 30 cm in di If the rate of
flow in the main pipe is 1.5m*/s and

mean velocity of flow in the 30 cm pipe
is 7.5 m/s. Determine the rate of flow in
the 40 cm pipe.

A. 053m°/s
B. 15m3/s
C. 0.87m3/s
D. 0.97m®/s

145. F<fia AT-aTEe o T W HSTHR 7a-
ITeeh ol STferar < STt ®, ifeh

A. 3T SEA ST B ©

B. o TaT— &Rl T Hfolie &hid &

C. %9 wgra W off 37 37freh o1 e ©
D. STk H ¥ 1S T

146. 37of 30 T sclvehe U KT ST & -
A, STHHT T ISR & 6l TWh
B. SHHT & W uedn |ge

C. o TR W

C) I g W
y =5t #yoft S T BT IshelT TUTTR BT &
O®A. 39 At

&

B. 133 &d
C. 19=H
D. 3Urk 8 & 1S e

148. 60 @ HY, SATE Tl Ush UTST ATSH ohl a1
T 9T 40 T, T 30 9.HY. 6 31 ety
& forveh forar T 21 fe Je TSy e |
T I aX 1.5 HY / Tehve § 3 30 . .
STl UTST B HTeF o 7.5 HY, / Thve Bl
40 G, |, ITet UTEY | ST oY &L ENf-
A. 0.53° /&
B. 1.59F /%
C. 0.87HF /%@
D. 0974’ /¥
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149. The type of layer in flexible pavement 149. ger et o i<l fofTs ST aTedt ot i

that fulfill the criteria such as strength, TeRR ST ASTeldl, e udl femrelt o wes
filter and drainage requirements is ------ T O L &-

A. Base layer A YR IT

B. Bituminous layer B faefimgwE

C. Cement concrete layer

C. e sshic wa

D. Granular sub-base layer
y D. ZRER ST SR 9T

150. In a concrete mix, if maximum size of 150. ue shshie T #, arfe firgt e srferenan
coarse aggregate is increased, the STTHR TE STY, 4 & ) o1 SAaTa-
proportion of fine to coarse aggregate ®
should be- A.

A. Increased 6
. Decreased ¢

5 \c. EERG
C. Remain same % D, s i
° o= ™

. No relevance to size ;

O
\\Qé\
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SET-A

I Sifera FA T IR 3Ee AfereRaw 3 : 150
Time for making answers : 3 Hours Maximum Marks : 150
qe:
1. 38 o qRaent § feT 9 g -
T - (37) | [ 1-15
FHIT Haleft A 16-30
=t 31-40
U & T O T 41-50
arT - (@) ot fowa o aweifea 51-150 O

T T 1 37 T 7 | HeA 150 ToF A ATE 7 |
2. Wt F I, T OMR IEite (Trenelie) w ﬁg‘?
3. wg-gfeae § 150 segis vy g mu § | v

1 3k rrafea foraT AT @ 99T Ted 3™

Siferer Y T 4 3o T Y| 0

4. Toret oft g % SHergperex A1 ST e, I T TR AT # |

5.  OMR 3TMIE (SATTINE) T T FAATFYTHT T hi/ald oToH I8 ®e J=& a1
30w a1 fierae snfR ug TR 9% T & A |

Note : @
1. This Question P@sts of Parts namely :-
ener

PART - (A) G Knowledge 1-15
Knowledge of Computer 16-30
Reasoning 31-40
General Knowledge Related to Work
of applied post 41-50
PART - (B) Civil Engineering Subject Related 51-150

Each question carries 1 mark. All 150 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.

3. There are 150 objective type questions in this question booklet. 1 mark is allotted for each
correct answer and ¥4 mark will be deducted for each wrong Answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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